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Slope at threshold 25

_ hSlopeMean0
— Entries 384
B Mean 0
L Std Dev 0
Underflow 0
102 — Overflow 0
= Integral 384
N Skewness inf
10 —
1=
= | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
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Slope at threshold 50

_ hSlopeMeanl
— Entries 384
B Mean 0
L Std Dev 0
Underflow 0
102 — Overflow 0
= Integral 384
N Skewness inf
10 —
1=
= | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
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Slope at threshold 100

10

hSlopeMean2
B Entries 384
B Mean 2.387
— 1 Std Dev 1.913
Underflow 0
B Overflow 50
Integral 334
Skewness 1.216
1—
B | | | | | | | | | | | | | | | | | | | | | | | | | | | H | N IN | | H
-10 -8 -6 -4 -2 0 2 4 6 8 10
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Slope at threshold 200

hSlopeMean3

- Entries 384
~ Mean -0.995
L Std Dev 1.354
— Underflow 36
— Overflow 0

Integral 348
B Skewness —3.69

[T T
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